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Worksheet 10: Sets

In all problems, A, B, C are sets (subsets of a universal set U).

1. Write down (using set notation) the power set of the set A = {0, {0},1}.
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2. Prove that (AU B) = AN B (one of the DeMorgan laws for sets).

3. Prove or disprove: (AU B) \ B = A.
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Worksheet 10: Sets

In all problems, A, B, C are sets (subsets of a universal set U).

1. Write down (using set notation) the power set of the set A = {0, {0},1}.
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2. Prove that (AU B) = AN B (one of the DeMorgan laws for sets).
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‘Worksheet 10: Sets
In all problems, A, B, C are sets (subsets of a universal set U).

1. Write down (using set notation) the power set of the set A = {0, {0},1}.

2. Prove that (AU B) = AN B (one of the DeMorgan laws for sets).
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3. Prove or disprove: (AU B) \ B = A.

@\ (@D )

e T(hoe) N ~doon 'k loole Llea A

T susser b T shetoment 0 Fales.
e ek o coumterexample.
(Tle piche balps 1o uebe . “3

Wk A=3L2y Lb BeRh

‘ _ 11,2 s d Gum)~R o=
Te. AVS =4 ?1 Z“ A .



C,O\/\V\UﬁOL\ W‘L\l\ % OKV\O& LOS‘FC )

VT ler U Le e universal sk

M P(%\ ‘pe O orya— sewtenees /wi'\'\ X e U
(evawplet  U=R | P6D = “x>0".

P(x.) we (e ossocrate oo sﬂJ(“.
A;(»{;: PUY & Trua | \ @
V)

(o nvesyely A Ac U, cac ke aw
OFW o tence P,c\. (v = ‘5( 6/4\'

To

2> 4 +Ck+tw~{'3

‘Now\ %
N AV = Pa0d v Prld

ANnR e P00 A Fgeod
DA s~ P, %)

—
e

o ttrers o lere you lave e colleche A eefs s
e —

IR N

AV\ = Z\- bér Z o & Fww
Cow nalee VAL = G\A(_(u.\-&) vnon d te cebs Au
nwe N

n
&\,w\to» A tew ally A, VA, UARV - —

=4 bez D sud bt e An
3&(‘ J{ &W) N‘* Aa{pks t at [eant ©Ow%
o'e»(‘v» weks Ao

e



